

ITB No. 23-101576

Bid Due Date: May 3, 2023

ITB Name: Light Bulbs, Fixtures, Lamps and Ballast
Price Schedule Opening: October 19, 2023

Annual Contract with 2 Options to Renew BID TABULATION Procurement Agent: Toneya Dawson

Annu	al Contract with 2 Options to Renew		В	ID TABULATIO	Procurement Agent: Toneya Dawson						
COMPANY NAME			F	M SHELTO	SUIV	IMIT LIGH	ITING	E SAM JONES			
ITEM No.	Commodities or Services	Estimated Quantities	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case
1	CF32DT/E/841 32-Watt 4100K Triple Tube/Dulux T 4 Pin Bulb	1576	\$5.77	\$9,093.52	(\$2.11	\$3,325.36	\$105.50	\$2.99	\$4,712.24	\$14.95
2	F28T5/841/ECO/IC 28W T5 Fluorescent Tube Eco-Shield 4100K	1450	\$4.20	\$6,090.00	(\$1.84	\$2,668.00	\$46.00	\$1.99	\$2,885.50	\$79.60
	H3DT528CU210 HI-LUME 3D Ballast	72	\$32.07	\$2,309.04			No BID		\$109.50	\$7,884.00	\$1,095.00
4	24PNL52/840/LED Fixture Troffer 2x4 LED 52 Watts ProLED	24	\$106.42	\$2,554.08	(\$51.77	\$1,242.48	\$51.77	\$49.25	\$1,182.00	\$492.50
5	211-2 97A 12.8V T3 Double Ended Incandescent Miniature Bulb Eiko Brand	35	\$2.71	\$94.85	(\$0.44	\$15.40	\$0.44	\$3.65	\$127.75	\$36.50
6	CF13DD/E/865 13W CFL G24Q-1 Base 6500K QT13/65-4P 49246 EIKO BRAND QUADTUBE CFL	216	\$3.94	\$851.04		\$2.89	\$624.24	\$28.90	No Bid	No Bid	N/A
7	TCPSB4UNI2450K TCP 400W MH – Replacement – 5000 Kelvin – 120 to 277 Volt – White Finish	240	\$250.11	\$60,026.40	(\$95.50	\$22,920.00	\$95.50	\$136.05	\$32,652.00	\$1,360.50
8	ICN-4P32-N BALLAST 4 F32T8 120-277V	576	\$24.37	\$14,037.07	(\$8.95	\$5,155.20	\$89.50	\$10.49	\$6,042.24	\$104.90
9	C2642UNVME, Ballast 2 CF26/4 Pin Lamps 120-227V Universal Lighting Technologies Kit includes: wire, mounting brackets for universal mounting positions.	720	\$32.32	\$23,270.40	(\$10.00	\$7,200.00	\$100.00	\$15.55	\$11,196.00	\$155.50
10	23W/T2/120V/LO/50, NL-23550 - 23W CFL SPIRAL 5000K 12V 4.4INMOL T2 NEOLITE 1,675 LUMENS LONG LIFE 10,000 HR	128	\$8.62	\$1103,36	(\$2.89	\$369.92	\$28.90	\$1.94	\$248.32	\$5.82
11	F54T5/850/HO/ECO/IC 54W T5 45.75 Inches Long 5000k 35084 F54T5/850/HO/ECO/IC T5 high output fluorescent lamp	985	\$3.85	\$3,792.25		\$1.35	\$1,329.75	\$33.75	\$2.49	\$2,452.65	\$99.60
12	FE1126SW 1-1126SW-1-2, SOCKET MEDIUM BI PIN NON-SHUNTED SLIDE MOUNT 1- 1126SW WITH PUSH GRAB HOLDERS 2 INCHES TALL 660W/600V RATED NON-SHUNTED	480	\$1.51	\$724.80	(\$1.96	\$940.80	\$1.96	\$0.88	\$422.40	\$44.00
13	23W/PAR38/50K, 23W CFL PAR38 FLOOD 5000K CFL23/50/PAR38 46204, 8.000 HOUR, 1140 LUMENS E26-MEDIUM BASE	144	\$20.55	\$2,955.20	(\$10.47	\$1,507.68	\$125.64	\$3.89	\$560.16	\$11.67
14	HP38FL80/S/HX, 80W PAR38 FLOOD 30 DEGREE 70351 HALCO HALOXEN 1580 LUMENS 1.500 HOUR LIFE DIMMABLE EQUAL TO 120W HOLOGEN	230	\$11.54	\$2,654.20	(\$5.24	\$1,205.20	\$78.80	\$6.75	\$1,552.50	\$40.50
15	MH100/U/MED/PS PROLUME 100W Metal Halide ED17 Medium Base	576	\$24.37	\$14,037.12		\$8.42	\$1,205.20	\$101.04	\$9.99	\$5,754.24	\$199.80



ITB No. 23-101576 Bid Due Date: May 3, 2023

ITB Name: Light Bulbs, Fixtures, Lamps and Ballast
Price Schedule Opening: October 19, 2023

Annual Contract with 2 Options to Renew BID TABULATION Procurement Agent: Toneya Dawson

Annu	al Contract with 2 Options to Renew	1	В	ID TABULATIO)N	Procurement Agent: Toneya Dawson					
COMPANY NAME			FM SHELTON				IMIT LIGH	ITING	E SAM JONES		
ITEM No.	Commodities or Services	Estimated Quantities	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case
16	FB32/841/6/ECO/IC 32W T8 U-Bend 4100K Color Temperature	2880	\$10.77	\$31,017.60	(\$5.26	\$15,148.80	\$105.20	\$8.50	\$24,480.00	\$136.00
17	ICN-3P32-N, Ballast 3 F32T8 120-277V Rated	575	\$25.65	\$14,748.75		\$8.42	\$4,841.50	\$84.20	\$10.60	\$6,095.00	\$106.00
18	F32T8/741 FO32/741/ECO 32W T8 48 Inch 4100k 75 CRI	2520	\$3.53	\$8,895.60		\$1.74	\$2,742.24	\$43.50	\$7.80	\$19,565.00	\$124.80
19	K4121C INTERMATIC PHOTOCELL 1800W 120 VOLT	96	\$23.09	\$2,216.64	(\$13.29	\$1,275.84	\$13.29	\$11.00	\$1,056.00	\$11.00
20	AAA 8PK DRY0004 Battery Alkaline AAA 1.5V 8 Pack	240	\$0.91	\$218.40	(\$0.45	\$108.00	\$3.50	\$0.29	\$69.60	\$1.16
21	13W/T2/120V/LO/50 NL 13W CFL SPIRAL 5000K 120V	576	\$10.89	\$2,872.64		\$2.37	\$1,365.12	\$28.44	\$1.15	\$662.40	\$3.45
22	MH250/U PROLUME 250W MH ED28 Clear 4000k	264	\$19.88	\$5,248.32	(\$8.42	\$2,222.88	\$101.04	\$9.49	\$2,505.36	\$189.80
23	28942277-51K 42W CFL Spiral 5100K 277V Rated	360	\$23.66	\$8,517.60		\$9.16	\$3,297.60	\$102.92	\$18.08	\$6,498.00	\$108.30
24	F54T5/841/HO/ECO/IC 54W T5 45.75IN LONG HO 4100K	1080	\$3.85	\$4,158.00	(\$1.42	\$1,533.60	\$56.80	\$2.08	\$2,246.40	\$83.20
26	F32T8/841 F32T8/SPX41/ECO 32W T8 48 Inch 4100K 85 CR	2200	\$3.85	\$7,766.00		\$1.74	\$3,828.00	\$43.50	\$4.14	\$9,108.00	\$165.60
30	F70QBX835A4P/EOL GE 70W CFL GX24Q-6 BASE 3500K	144	\$45.24	\$6,514.66			No Bid		N/A	N/A	N/A
31	64440 OSRAM 50W T4 12V GY6.35 Base Halogen Specialty	180	\$6.05	\$1,089.00		\$4.20	\$756.00	\$168.00	\$6.35	\$1,143.00	\$38.10
33	EXN/Q50MR16-GU10 50W MR16 120V GU10 BASE	240	\$8.37	\$2,008.80		\$2.16	\$518.40	\$21.60	\$1.35	\$324.00	\$27.00
34	LUTRON H3DT528CU210 Ballast 2 F28T5 120-277V	288	\$32.07	\$9,236.16			No Bid	•	\$109.50	\$31,536.00	\$1,095.00
35	F28T5/841/ECO GE 28W T5 46 Inches MOL 4100K 85 CRI	1480	\$3.85	\$5,698.00		\$1.84	\$2,733.20	\$46.00	\$4.08	\$6,038.40	\$163.20
36	CFL16/50/G30 PROLUME 16W CFL G30 GLOBE 5000K	144	\$11.48	\$1,653.12		\$12.00	\$1,728.00	\$12.00	\$2.20	\$316.80	\$6.60



ITB No. 23-101576 Bid Due Date: May 3, 2023

ITB Name: Light Bulbs, Fixtures, Lamps and Ballast
Price Schedule Opening: October 19, 2023

Annual Contract with 2 Options to Renew BID TABULATION Procurement Agent: Toneya Dawson

Annu	al Contract with 2 Options to Renew		Т	ID TABULATIO	Procurement Agent: Toneya Dawson							
COMPANY NAME			FM SHELTON				IMIT LIGH	ITING	E SAM JONES			
ITEM No.	Commodities or Services	Estimated Quantities	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case	
37	F96T12/DX/ALTO 75W T12 93 Inch Daylight 6500k Lamp	72	\$13.47	\$969.84		\$9.47	\$681.84	\$142.05	\$7.85	\$565.20	\$117.75	
38	B260IUNV-HP Ballast 2 F96T12 120-277V Rated	24	\$41.04	\$984.96	(\$14.74	\$353.76	\$147.40	\$21.60	\$518.40	\$216.00	
39	TCPHB4-UNI-12-50K-10CSPF Fixture Highway LED 120W 12,000 Lumens	45	\$191.11	\$8,599.95		\$77.71	\$3,496.95	\$77.71	\$89.65	\$4,034.25	\$537.90	
40	EXK , 50W MR16 12V GX5.3 BASE GE 16634 PROJECTION GE EXK REPLACEMENT BULB	96	\$3.85	\$369.60	(\$3.77	\$361.92	\$75.40	\$5.70	\$547.20	\$68.40	
41	PHI (300434) PL-L 40W/35/RS/IS 40 W; OVERALL LENGTH 22 1/2 INCH	576	\$7.05	\$4,060.80		\$6.84	\$3,939.84	\$68.40	\$6.46	\$3,720.96	\$323.00	
42	SYLVANIA 1000-Watt E25 High Pressure Sodium 2100K Mogul (E39) Base Clear Bulb - S52/O	82	\$44.89	\$3,680.98		\$41.74	\$3,422.68	\$500.88	\$40.35	\$330.87	\$242.10	
43	2x4 lay in LED fixture (4100K or 5000K) multi-voltage	48	\$114.15	\$5,479.20		\$51.77	\$2,484.96	\$51.77	\$53.40	\$2,563.20	\$534.00	
44	BALLAST 2 F28T5 120/277V DIMMABLE Part# B228PUNV SV3-D	144	\$32.07	\$4,618.08		\$52.84	\$7,608.96	\$528.40	\$63.50	\$9,144.00	\$635.00	
45	SOCKET EXTENDER MOGUL TO MOGUL Part# SATCO 90-1801 4kv rated	144	\$4.82	\$694.08	(\$4.47	\$1,704.60	\$236.75	\$16.99	\$2,446.56	\$849.50	
46	SOCKET EXTENDER MEDIUM TO MOGUL Part# E26 to E39 seamless adaptor	210	\$5.77	\$1,211.70	(\$2.79	\$585.90	\$222.79	\$3.60	\$756.00	\$90.00	
47	SOCKET EXTENDER MEDIUM TO MEDIUM BASE Part# SATCO 92-323	325	\$3.85	\$1,251.25		\$1.36	\$442.00	\$1.36	\$2.28	\$741.00	\$114.00	
48	BALLAST 2 F28T5 120/277VAC UNIVERSAL LIGHTING TECHNOLOGIES, Part# B228PUNV-N	144	\$32.07	\$4,618.08		\$19.14	\$2,756.16	\$191.40	\$19.50	\$2,808.00	\$195.00	
49	LAMP T5-HO 5000K 3400LUMENS LED25T5HO Part# KT-LED25T5Ho-48GC-850-D.G2	180	\$17.32	\$3,117.56	(\$9.47	\$1,704.60	\$236.75	\$11.65	\$2,097.00	\$116.50	
50	BATTERY MAINTENANCE/FREE LIGHTING SECURITY APPLICATION SEALED 12V 7AH Part# SEC1075 FAS1075	144	\$40.22	\$5,791.68	(\$13.67	\$1,968.48	\$136.70	N/A	N/A	N/A	



ITB No. 23-101576 Bid Due Date: May 3, 2023

ITB Name: Light Bulbs, Fixtures, Lamps and Ballast

Price Schedule Opening: October 19, 2023

Procurement Agent: Toneya Dawson

Annual Contract with 2 Options to Renew

BID TABULATION

COMPANY NAME			FM SHELTON			SUMMIT LIGHTING			E SAM JONES			
ITEM No.	Commodities or Services	Estimated Quantities	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case	Unit Cost	Extended Cost	Cost Per Case	
51	BULB LAMP MINIATURE EMERGENCY LIGHT APPL, T5 .90A 6V WEDGE BASE LAMP Part# 939, Miniature bulb	96	\$2.30	\$220.80		\$0.37	\$35.52	\$3.70	\$0.83	\$79.68	\$8.30	
52	2x2 lay in LED fixture (4100K or 5000K) multi-voltage	48	\$75.67	\$3,632.60		\$34.95	\$1,677.60	\$34.95	\$36.50	\$1,752.00	\$365.00	
	Total Extended Cost			321,828.97		\$133,132				\$229,127.88		
Numb	Number of Bids Received: 5											
LSBE Participation / GFE			Yes			GFE			GFE			
Attendance at the Mandatory LSBE Meeting (Yes / No)			Yes			Yes			Yes			
Separate Sealed Price Schedule (Yes / No)			Yes				Yes			Yes		

NOTES/JUSTIFICATION

Recommend award to the lowest, responsive, and responsible bidder:

Summit Lighting Solutions, 1897 Godby Road, Atlanta, GA, 3034

Line Items: 1-2, 4-29, 31-33, 35-52

No Bid was submitted for Line Items: 3, 30, 34

Non-Responsive:

TDIR, Inc. - Failed to submit original and copy of bid packet as required by solicitation

Regency Lighting - Failed to meet LSBE participation benchmark or demonstrate a good faith effort

Witness Joydan Holley

Agent Tonsya B. Dawson